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LINEAR EQUATIONS

1. If the simultaneous linear equations 3x+4y=18 and kx-4y=180

have no solution then the value of k is-

A.O0

C.2


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_CgXFJUAgfVd0

Answer: D

o Watch Video Solution

2. If the simultaneous linear

a1x +biy+c4 =0 and asx + byy +co = 0 have

solution, then the required condition is -

A. a1b2 = a2b1

B. a1b2 = b1b2

C. ajas — b1b2 75 C1Cy

D. a1b2 75 a2b1

Answer: B

equations

only one

| o Watch Video Solution


https://dl.doubtnut.com/l/_CgXFJUAgfVd0
https://dl.doubtnut.com/l/_uNJnqpsmzVnX

3. Solve (by any method):
3x+2y=1

2x+y =3

o Watch Video Solution

4. Find the values of p for which the equations 3x-4y=1 and

9x+py=2 will have only one set of solutions.

o Watch Video Solution

5. Find the values of r for which the equations rx+2y=5 and

(r+1)x+3y=2 have no solution.

o Watch Video Solution



https://dl.doubtnut.com/l/_uNJnqpsmzVnX
https://dl.doubtnut.com/l/_pplAzUsCVOFK
https://dl.doubtnut.com/l/_JTXA2LNjAcXS
https://dl.doubtnut.com/l/_t3VubQAFiwFJ

6. Find the value of p for which the equations px+6y-p=0 and (p-

1)x+4y+(p-5)=0 have infinitely many sets of solutions.

o Watch Video Solution

2t
7.1fx =3t and y = 5~ 1, then find the value of t for which x

= 3y.

o Watch Video Solution

8.Find the value of k for which the equations 2x+5y=8 and 2x-ky=3

will have no solution.

o Watch Video Solution



https://dl.doubtnut.com/l/_t3VubQAFiwFJ
https://dl.doubtnut.com/l/_pUjC1Ig5EnY8
https://dl.doubtnut.com/l/_sbHB5gJBSE1I
https://dl.doubtnut.com/l/_HRSuugq3orGV

9.1f x and y are real numbers and (z — 5)% + (z — y)* = 0, then

find the value of x and y.

o Watch Video Solution

10. Find the values of x and y if z2 + y* — 2z + 4y = — b.

o Watch Video Solution

11. Find the values of r for which the equations rx-3y-1=0 and (4-

r)x-y+1=0 will have no solution.

o Watch Video Solution



https://dl.doubtnut.com/l/_LXuXhkZbJ8nZ
https://dl.doubtnut.com/l/_0MuN2kryiJgN
https://dl.doubtnut.com/l/_FhKFynojckgz

12. Write the equation a;z + bjy + ¢; = 0, b; # 0, in the form of

y=mx+c, where m and c are constants.

o Watch Video Solution

13. Find the value of k for which the equations kx-21y+15=0 and 8x-

7y=0 will have only one set of solutions.

o Watch Video Solution

14. Find the values of a and b for which the equations 5x+8y=7
and (a+b)x+(a-b)y=(2a+b+1) will have infinitely many sets of

solution.

o Watch Video Solution



https://dl.doubtnut.com/l/_VXu6ETbNy4uR
https://dl.doubtnut.com/l/_9rTjujD7J8ga
https://dl.doubtnut.com/l/_bBsYFM9tfItr
https://dl.doubtnut.com/l/_XY2f9CB5mMBE

15. Solve (by any method):
X+3y=1

2x-y=3

o Watch Video Solution

16. Determine whether each pair of the following equations are
solvable or not by finding the relations among the ratios of the
co-efficients of the same variable and the constant terms of each
pair. Also write whether the graphs of the equations of each pair
are parallel or intersecting of coinciding or not:

(i) 5x+3y=11, 2x-7y=-12, (ii) 6x-8y=2, 3x-4y=1,

(i1i) 8x-7y=0, 8x-7y=56,

° Watch Video Solution



https://dl.doubtnut.com/l/_XY2f9CB5mMBE
https://dl.doubtnut.com/l/_5jfhc9AFyznm

7

17.If y of the equation — + — = 1 is expressed in term of x we
zr Yy
get -
Ay — Tx
K-
T(x —2)
B.y =
Y T
2y
Cx=——
T —
2(x — 7
D.z = ( )
Y
Answer: C

o Watch Video Solution

7 — 4x

18. The value of x when y = =

is substituted in the

equation 2x+3y=9 is -

Al


https://dl.doubtnut.com/l/_mAaPgj80MBwW
https://dl.doubtnut.com/l/_LllssCNs0nJ2

B.2

C.3

D.4

Answer: C

° Watch Video Solution

19. If r(x+y)=2rs....... (1) and s(x-y)=2rs......... (2) be two equations, then
the value of x obtained from (1) that should be substituted in
equation (2) so as to determine the value of y is -

A.sr

B.y-2r

C.2ry

D. 2r+y



https://dl.doubtnut.com/l/_LllssCNs0nJ2
https://dl.doubtnut.com/l/_Jmije9odaxMQ

Answer: A

o Watch Video Solution

20. Solve the following simultaneous linear equations in two
variables by the method of elimination :

5
ac—l—y:48,x—|—4:§(y—|—4)

o Watch Video Solution

21. Solve the following simultaneous linear equations in two

variables by the method of elimination :

2 4
3t —— =5+ — =14
Y Y

o Watch Video Solution



https://dl.doubtnut.com/l/_Jmije9odaxMQ
https://dl.doubtnut.com/l/_H1a6UphlocHd
https://dl.doubtnut.com/l/_SEtEzBrBv0Cw

22. Solve the following simultaneous linear equations in two

variables by the method of elimination :

o Watch Video Solution

23. Solve the following simultaneous linear equations in two

variables by the method of elimination :

T+y 3a:—5y_2 T Y

5 T %2t

o Watch Video Solution

24. Solve the following simultaneous linear equations in two

variables by the method of elimination :

Ty 1 =zy 1

z+y 5 z—y 9

| ° Watch Video Solution


https://dl.doubtnut.com/l/_C2M2R5FiBcpb
https://dl.doubtnut.com/l/_M6uFrNOyKWxL
https://dl.doubtnut.com/l/_UbpvEpStrJeX

25. Solve the following simultaneous linear equations in two

variables by the method of elimination :

1 1 2 3

o Watch Video Solution

26. Solve the following simultaneous linear equations in two

variables by the method of elimination :

(Tz —y—6)°+ (14+2y — 16)° = 0

o Watch Video Solution

27. Solve the following simultaneous linear equations in two

variables by the method of elimination :


https://dl.doubtnut.com/l/_UbpvEpStrJeX
https://dl.doubtnut.com/l/_pl4WTCJtA7ZF
https://dl.doubtnut.com/l/_ptbGzNFFKJk0
https://dl.doubtnut.com/l/_GUc5wbO0yZjC

(a +b)°

ar + by =1,bx + ay = 20

_la(a’#b)

o Watch Video Solution

28. Solve the following simultaneous linear equations in two

variables by the method of elimination :

3 2
2+ — =5,z — — =3
Y Yy

o Watch Video Solution

29. Solve the following simultaneous linear equations in two

variables by the method of elimination :

r+y 7

2¢ — 3y = 8
roBy=8 — =3

o Watch Video Solution



https://dl.doubtnut.com/l/_GUc5wbO0yZjC
https://dl.doubtnut.com/l/_PAWmCCJYACyG
https://dl.doubtnut.com/l/_XddcTSP0wotQ

30. Solve the following simultaneous linear equations in two

variables by the method of elimination :

1 1

Sy =71, (s 5y =2 7

o Watch Video Solution

31. Solve the following simultaneous linear equations in two

variables by the method of elimination :

y+1 5 y—5 2

o Watch Video Solution

32. Solve the following simultaneous linear equations in two

variables by the method of elimination :

1 1 5 1 1 1
_|_ e

| o Wiak~h \itAan CAaliikian


https://dl.doubtnut.com/l/_ZLJbge6bs6vP
https://dl.doubtnut.com/l/_wtkWTZTiksEy
https://dl.doubtnut.com/l/_9MbMMmR5GBJz

| & AAK-LAFII IR LAV Ar®iYIL"1Li0] J)

33. Solve the following simultaneous linear equations in two

variables by the method of elimination :

m—l—y_z r—y

° Watch Video Solution

34. Solve the following simultaneous linear equations in two

variables by the method of elimination :

Tty xT—YyY Tty xT—y 4
=5, = 5_—
5 * 4 4 T 5 5

o Watch Video Solution

35. Solve the following simultaneous linear equations in two

variables by the method of elimination :


https://dl.doubtnut.com/l/_9MbMMmR5GBJz
https://dl.doubtnut.com/l/_Wwd8XCRJvkwW
https://dl.doubtnut.com/l/_cGmzYYvAfy3b
https://dl.doubtnut.com/l/_zDr00S8LaXBj

2—-23z—y) =10,(4 —y) — bz = 4(y — x)

o Watch Video Solution

36. Solve the following simultaneous linear equations in two

variables by the method of subsititution :

2% 4 S =150 2 = =

o Watch Video Solution

37. Solve the following simultaneous linear equations in two

variables by the method of subsititution :
2 5 3 2 19

=1, 4+ D=

z oy r oy 20

o Watch Video Solution



https://dl.doubtnut.com/l/_zDr00S8LaXBj
https://dl.doubtnut.com/l/_rSl3NdY3T533
https://dl.doubtnut.com/l/_VorTR8aMPDJz

38. Solve the following simultaneous linear equations in two

variables by the method of subsititution :

:L'+y_3:13—y
ry | zy

=1

o Watch Video Solution

39. Solve the following simultaneous linear equations in two

variables by the method of subsititution :

zT+y 7 7

w—y:§’$+y:1_0

o Watch Video Solution

40. Solve the following simultaneous linear equations in two

variables by the method of subsititution :

o Wiakt~h \itAan CAaliikian


https://dl.doubtnut.com/l/_ePHADTnRPkbx
https://dl.doubtnut.com/l/_RUrASdKGykPo
https://dl.doubtnut.com/l/_4q5PYdV5G1DI

| & AAK-LAFII IR LAV Ar®iYIL0"1LYi0] J)

41. Solve the following simultaneous linear equations in two

variables by the method of subsititution :

1 1

Sy = -1,z By =z T

o Watch Video Solution

42. Solve the following simultaneous linear equations in two

variables by the method of subsititution :

T Yy T+y 3r — by
i A | —
+ T2 + 4

14 18 2

o Watch Video Solution

43. Solve the following simultaneous linear equations in two

variables by the method of subsititution :


https://dl.doubtnut.com/l/_4q5PYdV5G1DI
https://dl.doubtnut.com/l/_VoUvjqNuKZG9
https://dl.doubtnut.com/l/_gWgDcSJoB9dX
https://dl.doubtnut.com/l/_ltbTzKwESUhv

p(z+y) =qlz—y) =203 (p,q#0)

o Watch Video Solution

44. Solve the following simultaneous linear equations in two

linear variables by the method of cross-multiplication :

Tty 5)
5y = 36, —
T + oy z—y 3

o Watch Video Solution

45. Solve the following simultaneous linear equations in two

linear variables by the method of cross-multiplication :

o Watch Video Solution



https://dl.doubtnut.com/l/_ltbTzKwESUhv
https://dl.doubtnut.com/l/_A9oaIe1V1G6x
https://dl.doubtnut.com/l/_vwBp8g65aOaU

46. Solve the following simultaneous linear equations in two

linear variables by the method of cross-multiplication :

x+2 Yy—x 2y — 3z
=2r—8 — + 2y = 4
7 + 1 T — 8, 3 + 2y = 3z +

o Watch Video Solution

47. Solve the following simultaneous linear equations in two
linear variables by the method of cross-multiplication :

r+y=2bx —y=2a

o Watch Video Solution

48. Solve the following simultaneous linear equations in two

linear variables by the method of cross-multiplication :

¥
b

| o Wiakt~h \itAan CAaliikian

%4— =2, ax — by = a® — b



https://dl.doubtnut.com/l/_6KXBoC1V3UPb
https://dl.doubtnut.com/l/_nreWn6nDSi83
https://dl.doubtnut.com/l/_TOxtTQtoNhdT

| & AAK-LAFII IR LAV Ar®iYIL"1Li0] J)

49. Solve the following simultaneous linear equations in two

linear variables by the method of cross-multiplication :

2ab

ar + by =1,bxr + ay = ———
Y Y a? + b?

° Watch Video Solution

50. Ritadevi has bought 5 pens and 3 pencils for Rs.34 from a
shop. Sumitadevi has also bought 7 pens and 6 pencils for Rs. 53
from the same shop. Find the value of each pen and of each

pencil.

o Watch Video Solution



https://dl.doubtnut.com/l/_TOxtTQtoNhdT
https://dl.doubtnut.com/l/_ghGpJdw9vJOz
https://dl.doubtnut.com/l/_BxGPAUPVnsoh

51. The weights of Sitadevi and Gitadevi are together 85 kilograms

4
. If half of the wight of Sitadevi equal to 9 th part of the weight

of Gitadevi, then determine the weight of each separately.

o Watch Video Solution

52. Present age of Sumitra is twice the present age of Sulekha . 10
yeras ago, the age of Sumitra was thrice the age of Sulekha . What

are their present ages ?

o Watch Video Solution

53. The value of the total number of 70 notes (currency) is Rs.590 ,
in which there are notes of Rs10 and 5. Find the number of each

notes.

| o Watch Video Solution


https://dl.doubtnut.com/l/_iLmKRZ8Zbb5R
https://dl.doubtnut.com/l/_ZlXk0GP0eWl6
https://dl.doubtnut.com/l/_2OOgSzp9A0mJ

54.The denominator of a fraction is greater than numerator of it
by 5 and if 3 is added to both the numerator and the

3
denominator the fraction becomes T Find the fraction.

o Watch Video Solution

55. If 21 is added to the number first number of two given
numbers, it becomes twice the second number and if 12 is added
to the second number, it becomes twice the first number. Find the

numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_2OOgSzp9A0mJ
https://dl.doubtnut.com/l/_AIT5tu0vcriI
https://dl.doubtnut.com/l/_Akc9Dz1hUJCd

2
56. A and B can complete 3 rd of a piece of work , if A work 3 days
11
and B work 4 days together. While they can complete ED) part of
the work.if A work 3 days and B works 6 days together. In how

many days A and B will complete the work seperately.

° Watch Video Solution

57. There are two kinds of syrup . In the first kind , there is 5 kg of
sugar in 100 litres of syrup. While in the second kind,there is 8 kg
of sugar in 100 litres of syrup. In how much quantities of these
two kinds of syrup should be mixed so that there will have 95 kg

of sugar in 150 litres of syrup ?

° Watch Video Solution



https://dl.doubtnut.com/l/_KWh7IQwbBdZh
https://dl.doubtnut.com/l/_yt94qkg9PIH9

58. if the length be increased by 2 metres and the breadth be
increased by 3 metres respectively , the area of the rectangle is
increased by 75 sq. metres . But if the length be decreased by 2
metres and the breadth be increased by 3 metres , the area of the
rectangle increases by 15 sq.metres . Find the length and breadth

of the rectangle.

o Watch Video Solution

59. Babul said to Eeshan , "If you give me 3 rd of your money, |
1
will have Rs 200. " Eeshan said to Babul , "If you give me 3 of your

money , | will have Rs. 200 . "How much money did each of them

possess.

° Watch Video Solution



https://dl.doubtnut.com/l/_NUPNav9OzNdv
https://dl.doubtnut.com/l/_roHrFLeGFXPd

60. An amount of money was distributed amongst a certain
number of friends . Had the number of friends been 2 less than
the original , each of them would have got RS.18. Again , had the
number of friends been 3 more than the original , each of them
would have got Rs. 12 . Determine the number of friends and the

amount of money.

o Watch Video Solution

61. There are coins of one rupee and 50 paisa in a box owned by

elder brother of Mitali. The total value of the coins is Rs. 350. The
: " 1 : o

sister of Mitali replaces 3 rd of the 50 paisa coins in the box by

equal number of one rupee coins , so that the total value of the

coins now becomes RS.400 . Determine the number of one rupee

coins and 50 paisa coins each.

o Watch Video Solution



https://dl.doubtnut.com/l/_i0PnF8zGNuJm
https://dl.doubtnut.com/l/_I4Vl5jbhl16G

62. The time required by a motor car to travel a cartain distance is
3 hours less if its velocity be increased by 9 kilometres per hour.
Again ,if the velocity be decreased by 6 kilometres per hour , then
the time required by the car to travel the same distance is 3

hours more. Find the velocity of the car and the certain distance.

° Watch Video Solution

63. A number of two digits is 3 more than 4 times of the sum of
its digits. If the positions of the digits of the number be
interchanged , then the new number thus formed is 18 more than

the original number. Determine the number.

° Watch Video Solution



https://dl.doubtnut.com/l/_I4Vl5jbhl16G
https://dl.doubtnut.com/l/_u9JnwOadqYWb
https://dl.doubtnut.com/l/_ZmZLyTDPGwxo

64. The sum of the digits of a number consisting of two digits is
14 and if 29 is subtracted from the number, then two digits of the

number becomes equal to each other. Find the number.

o Watch Video Solution

65. A boatsman can travel by his boat a distance of 30 kilometres
in 6 hours in favour of the current . While he comes back in 10
hours against the current . Find the velocity of the current and

the velocity of the boat in still water.

o Watch Video Solution

66. If the angle of elevation of the Sun is 30°, then the length of

the shadow of a vertical pole of length 15 metre is?

| o Watch Video Solution


https://dl.doubtnut.com/l/_SCV4RzG9AsUk
https://dl.doubtnut.com/l/_QCMmNJVO4NB6
https://dl.doubtnut.com/l/_Oq2itBBE011L

67. Matangini got 6 as the quotient and 6 as the remiander when
she had divided a number of two digits by the sum of the digits .
Had she been divided the number otained by interchaging the
positions of the digits by the sum of the digits ,then she would
got 4 as the quotient and 9 as the remiander . Determine the

number .

o Watch Video Solution

68. In order to put some oranges into some boxes , Sankarbabu
found that had he been put 20 oranges more into each box, the
number of boxes required would be 3 less than the original
number . Again , had he been put 5 orange less into each box, the

number of boxes would be 1 more than the original number . Find


https://dl.doubtnut.com/l/_Oq2itBBE011L
https://dl.doubtnut.com/l/_lDaDEx1QgapP
https://dl.doubtnut.com/l/_14D7eSTuP2n9

the number of oranges and the number of boxes which

Sankarbabu possessed.

o Watch Video Solution

69. Two trains start at the same time, one from Kolkata to
Madhupur and the other from Madhupur to Kolkata. If they arrive
at Madhupur and Kolkata respectively 1 hour and 4 hours after

they cross each other, find the ratio of their velocities.

o Watch Video Solution

1. The straight line parallel ot the graph of the equation x+y=5 is

A. x-y=5


https://dl.doubtnut.com/l/_14D7eSTuP2n9
https://dl.doubtnut.com/l/_c044geOiezEg
https://dl.doubtnut.com/l/_lKMECCfOdb54

B. x+y=k (= constant)

C.y-x=5

D. x-y=k

Answer: B

o Watch Video Solution

2. The straight line which coincides with the graph of the

equation x+y=5 is

A. x+y=1

B. x-y=5

C. 2x+2y=10

D. x+y=10


https://dl.doubtnut.com/l/_lKMECCfOdb54
https://dl.doubtnut.com/l/_hf8w06iMCxIY

Answer: C

o Watch Video Solution

3.The equations 4x+3y=7 and 7x-3y=4 have

A. a certain solution

B. infinitely many solution

C. no solution

D. None of these

Answer: A

o Watch Video Solution

4.The solutions of the equation x+y=7 are


https://dl.doubtnut.com/l/_hf8w06iMCxIY
https://dl.doubtnut.com/l/_UGWtqoANFlKX
https://dl.doubtnut.com/l/_AzQuW39Ddwcl

A.(1,6),(3,-4)

B. (1,-6), (4, 3)

C.(1,6),(4,3)

D. (-1, 6), (-4, 3)

Answer: C

o Watch Video Solution

5.(1,1) is the solution of

A. 2x+3y=9

B. 6x+2y=9

C. 3x+2y=5

D. 4x+6y=8


https://dl.doubtnut.com/l/_AzQuW39Ddwcl
https://dl.doubtnut.com/l/_MLzb2BhU0FCa

Answer: C

o Watch Video Solution

6. Find the value of k for which the equations 2x+5y=8 and 2x-ky=3

will have no solution.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_MLzb2BhU0FCa
https://dl.doubtnut.com/l/_wdm2rT3ZjtuF

7. If the solution rx+2y=5 and (r-5)x+3y=2 have no solution, then

the value of ris

A.10

B.-10

Answer: B

o Watch Video Solution

8. If the solution rx+2y=5 and (r+1)x+3y=2 have no solution, then

the value of ris

Al


https://dl.doubtnut.com/l/_adJjrHBGJo9m
https://dl.doubtnut.com/l/_WotuS6zhzZqu

B.2

C.3

D.4

Answer: B

o Watch Video Solution

2
9.1f x=3p and y = ?p + 1, then find the value of p for which x =

5y.

o Watch Video Solution

10. Find two sets of solutions of the equation ax+by+c=0.

o Watch Video Solution



https://dl.doubtnut.com/l/_WotuS6zhzZqu
https://dl.doubtnut.com/l/_SWUHerhPqU8J
https://dl.doubtnut.com/l/_oX3YeZPNbZLJ

11. Express the equation px+qy+r=0 in the form of y=mx+c where

m and c are constants.

o Watch Video Solution

12.1f u and v are real numbers and (u + 3)> + (v + 5)% = 0, then

find the values of u and v.

o Watch Video Solution

1B.0fz? + y2 — 6x — 8y = — 25, then find the values of x and y.

o Watch Video Solution



https://dl.doubtnut.com/l/_usNHtJxH7nWp
https://dl.doubtnut.com/l/_E424xarBcvb0
https://dl.doubtnut.com/l/_6t00wY7hWyVK

14. Find the values of X and y when

2?4yt — 22z + 2y = —T.

o Watch Video Solution

15. Find the values of r for which the equations rx-y=3 and 4x-2y=5

will have only one solution.

o Watch Video Solution

16. Find the value of t for which the graphs of the simultaneous
linear equations 2x+ty+1=0 and (1-t)x-3y=1 will be parallel to each

other.

o Watch Video Solution



https://dl.doubtnut.com/l/_2Zzx1EP8MuER
https://dl.doubtnut.com/l/_7AdjbtUzbM3X
https://dl.doubtnut.com/l/_umfkGaYIYnkl
https://dl.doubtnut.com/l/_KXIXELAFAh3X

17. Find the value of k for which the graph of the simultaneous

linear equations 3x+2y-7=0 and 9x+ky-21=0, coincide.

o Watch Video Solution

18. Find the values of a and b if the simultaneous linear equation

ax-15y+10=0 and 2x+6y=b will have infinitely many solutions.

o Watch Video Solution

19. Determine the condition for which the simultaneous linear

equations bx+cy+d=0 and b'x+c'y+d'=0 will have no solution.

o Watch Video Solution



https://dl.doubtnut.com/l/_KXIXELAFAh3X
https://dl.doubtnut.com/l/_MYS3On1leA8R
https://dl.doubtnut.com/l/_HQcZIfxZGJmi

20. Show that the solution set of the simultaneous linear

equations 4x+3y=25 and 5x-2y=14 is (4, 3).

o Watch Video Solution

21. Express the following statements in the form of two
simultaneous linear equations in two variables and determine
whether these equations are solvable or not by the method of
finding the relations among the ratios of the co-efficients of the
same variables and the constant terms :

The sum of the present ages of your elder sister and your father
: : 1.

is 84 years. After 8 years, your father's age will be 2§ times of

your elder sister.

° Watch Video Solution



https://dl.doubtnut.com/l/_4Wzvpxp7VNAy
https://dl.doubtnut.com/l/_Y5pJhl6QDxfe

22. Express the following statements in the form of two
simultaneous linear equations in two variables and determine
whether these equations are solvable or not by the method of
finding the relations among the ratios of the co-efficients of the
same variables and the constant terms :

Debsmita bought 3 pens and 4 pencils for Rs. 42. Her friend

Nayana also bought 9 pens and a dozen of pencils for Rs. 126.

o Watch Video Solution

23. Express the following statements in the form of two
simultaneous linear equations in two variables and determine
whether these equations are solvable or not by the method of
finding the relations among the ratios of the co-efficients of the
same variables and the constant terms :

Judhisthir bought 2 art-paper and 5 sketch-pen for Rs. 16. His elder


https://dl.doubtnut.com/l/_JivwmonUDmT3
https://dl.doubtnut.com/l/_qHBpOoBdwiMC

brother Ramsundar also bought 4 art-paper and 10 sketch-pen for

Rs. 28.

o Watch Video Solution

24. Solve each pair of the following simultaneous linear equations
by drawing graphs of these equations which have only one
solution. Also find three sets of solutions of those pair of

equations which have infinitely many solutions :

Y

x—y:3,%—|—§:6

o Watch Video Solution

25. Solve each pair of the following simultaneous linear equations
by drawing graphs of these equations which have only one

solution. Also find three sets of solutions of those pair of


https://dl.doubtnut.com/l/_qHBpOoBdwiMC
https://dl.doubtnut.com/l/_wdzF2PGjguRu
https://dl.doubtnut.com/l/_iceceRMuYegB

equations which have infinitely many solutions :

o Watch Video Solution

26. Solve each pair of the following simultaneous linear equations
by drawing graphs of these equations which have only one
solution. Also find three sets of solutions of those pair of
equations which have infinitely many solutions :

4z + 3y = 20, 8x + 6y = 40

o Watch Video Solution

27. If the simultaneous linear equations in two variables 8x+5y=7
and (a-b)x+(a+b)y=a+2b+1 have infinitely many solutions, then find

the values of a and b.

| nlll,L,L\l!,l,, o~ _01_ _a°* ___


https://dl.doubtnut.com/l/_iceceRMuYegB
https://dl.doubtnut.com/l/_rtXJB4Z02ppN
https://dl.doubtnut.com/l/_qavUMps6YFZZ
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28. If the simultaneous linear equtions in two variables
z+ry=r and z + (r — 2)*y = 2 have no solution, find the

values of r.

o Watch Video Solution

29. Determine the values of k for which the simultaneous linear
equations in two variables kx+2y-(k-10)=0 and 2x+ky+(k+6)=0 have

infinitely many solutions.

o Watch Video Solution

30. If the simultaneous linear equations in two variables

g Y

2 2
a‘z +by=1 and +
4 a? +1 b2 +1

= k, where a # b and a,


https://dl.doubtnut.com/l/_qavUMps6YFZZ
https://dl.doubtnut.com/l/_inh9iHb5KJKx
https://dl.doubtnut.com/l/_DxzhjD0WkoH6
https://dl.doubtnut.com/l/_RQ5VJuYpk4j2

b, k are constants have no solution, then prove that

A+ +1=0.

o Watch Video Solution

1. The least natural numbers, by which the equations 4x-3y=16 and

6x+5y=62 should be multiplied so that the co-efficients of x in

both the equations become equal are

A. 3 and 2 respectively

B. 2 and 1respectively

C.1and 2 respectively

D. 5 and 3 respectively

Answer: A


https://dl.doubtnut.com/l/_RQ5VJuYpk4j2
https://dl.doubtnut.com/l/_39ouh6wkitwk

o Watch Video Solution

2.The least natural numbers, by which the equation 2x+3y=11 and

3x-4y=8 should be multiplied so that the co-efficients of y in both

the equations become equal are

A. 3 and 2 respectively

B. 4 and 3 respectively

C.3 and 1respectively

D. 4 and (-3) respectively

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_39ouh6wkitwk
https://dl.doubtnut.com/l/_8ARRNJS4Oq9I

3. The number, by which the equation 7x-5y+2=0 should be
multiplied so that after adding the result of the multiplication to
the equation 2x+15y+3=0, the co-efficients of the variable y in

both the equation will be eliminated is

C.3

D.2

Answer: C

o Watch Video Solution

4. The constant term, by which the equation ax+by=c should be

multiplied so that after subtracting the result of the


https://dl.doubtnut.com/l/_5zZug9czQXXE
https://dl.doubtnut.com/l/_aeKCfkyn9H0F

multiplication from the equation a?z + b*y = ¢* the co-efficients

of the variable x will be eliminated, is

A1l

D.b

Answer: B

° Watch Video Solution

b
5. The number by which the equation T ;L ¢ - y: should be

multiplied so that after adding the result of the multiplication to
the equation az — by = a® — b? the variable y will be eliminated,

is


https://dl.doubtnut.com/l/_aeKCfkyn9H0F
https://dl.doubtnut.com/l/_wcluS8DSL05l

Answer: D

° Watch Video Solution

6. The quantities, by which the equation

44 an Hi snou e
|||ultiplied so that after addlng the results of the |||u|tiplication

the variable x will be eliminated, are

A. q and p respectively

B. q and -p respectively


https://dl.doubtnut.com/l/_wcluS8DSL05l
https://dl.doubtnut.com/l/_j1wFx3ygu8jO

C. Kl and 1 respectively

D.1and P respectively
q

Answer: B

o Watch Video Solution

7. If x of the equation % + % = 8 is expressed in term of y we
get,
3y — 48
Az =
’ 2
48 — 3y
B.x =
’ 2
Cou— 48 — 2z
Y 3
2z — 48
Y 3
Answer: B



https://dl.doubtnut.com/l/_j1wFx3ygu8jO
https://dl.doubtnut.com/l/_9jzKpUwyE6sM
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8. Solve the simultaneous linear equation in two variables

px+qy+r=0 and dy=0, where p,q,r,d are constants by the method of

cross-multiplication.

o Watch Video Solution

9. Find the quantity by which the the equation
(@ + b)(z + y) = a* + b should be multiplied so that after
adding the result of the multiplication to the equation
(a —b)z + (a + b)y = a® — 2ab — b?, the variable x will be

eliminated.

o Watch Video Solution



https://dl.doubtnut.com/l/_9jzKpUwyE6sM
https://dl.doubtnut.com/l/_fM9uJQxb5kCM
https://dl.doubtnut.com/l/_1r6rdGQdXIQ1

10. Eliminate t: x=at”(2), y=2at’

o Watch Video Solution

11. Prove that x+y=5 when 101x+99y=499 and 99x+101y=501.

o Watch Video Solution

= 8 in term of x.

x
12. Express y of the equation - i

o Watch Video Solution

b
B.ify = axi
CIr

, then express x in term of y.

o Watch Video Solution



https://dl.doubtnut.com/l/_rB5QlcWvnacE
https://dl.doubtnut.com/l/_cLW54BQ9KHfD
https://dl.doubtnut.com/l/_aDzo2b9Ju5OU
https://dl.doubtnut.com/l/_gPgrch1JenU8
https://dl.doubtnut.com/l/_j5T9w2zG5Jn9

14. Determine the value of y by eliminating x from the

simultaneous linear equations in two variables

(a+b)w—y:% .......... (1) and b’z + (a — b)y = L.......... (2)

o Watch Video Solution

15. Determine th I f x by substituti = in th
etermine the value of x by substituting y 5$+3|n e
3
equation 2z + — = 5.
Y
o Watch Video Solution
. - by +a® — b
16. Find the value of y by substituting * = . in the
. Y
tion — + — = 2.
equation a + b

° Watch Video Solution



https://dl.doubtnut.com/l/_j5T9w2zG5Jn9
https://dl.doubtnut.com/l/_lh8YxqzKhGdA
https://dl.doubtnut.com/l/_Z1iRdv7DEXQJ

17.Find the value of y if z = 1_y9y “ 15y

o Watch Video Solution

18. Solve the following simultaneous linear equations in two
variables by the method of elimination
3x+2y=6

2x-3y=17

o Watch Video Solution

19. Solve the following simultaneous linear equations in two
variables by the method of elimination
41x+53y=135

53x+41y=147

| o Watch Video Solution


https://dl.doubtnut.com/l/_USSZNoW1ybJc
https://dl.doubtnut.com/l/_zx0adKnRDIWK
https://dl.doubtnut.com/l/_pdRrq0jp9XtE

20. Solve the following simultaneous linear equations in two

variables by the method of elimination

6
3r + — =8
Yy
15
20 — — = —1
(]

o Watch Video Solution

21. Solve the following simultaneous linear equations in two
variables by the method of elimination
5+3xy=33x

4-7xy=17x

o Watch Video Solution



https://dl.doubtnut.com/l/_pdRrq0jp9XtE
https://dl.doubtnut.com/l/_uCqavhWWuRZz
https://dl.doubtnut.com/l/_3aY35iTIPhOO

22. Solve the following simultaneous linear equations in two

variables by the method of elimination

_I_

x
2
x
4

o Watch Video Solution

23. Solve the following simultaneous linear equations in two

variables by the method of elimination
6 2
+—=5

z 'y
8 3
—_ -1
Z Yy

o Watch Video Solution

24. Solve the following simultaneous linear equations in two

variables by the method of elimination


https://dl.doubtnut.com/l/_1EofkB8SQNB0
https://dl.doubtnut.com/l/_jmt3kZsPyJ8H
https://dl.doubtnut.com/l/_UI3oi3IYPCFO

5—|—3 =8
x v=

4
Z 10y =56
xZr

o Watch Video Solution

25. Solve the following simultaneous linear equations in two

variables by the method of elimination

x
3
x
4

o Watch Video Solution

26. Solve the following simultaneous linear equations in two
variables by the method of elimination

30z + 80y + 45 = 0 = 140z — 36y — 97

o Watch Video Solution



https://dl.doubtnut.com/l/_UI3oi3IYPCFO
https://dl.doubtnut.com/l/_MfJSRRCnbHK5
https://dl.doubtnut.com/l/_2VZGyoUjIBxU

27. Solve the following simultaneous linear equations in two

variables by the method of elimination

Ty _ 9
Tty
Ty _ 6
r—y

o Watch Video Solution

28. Solve the following simultaneous linear equations in two
variables by the method of elimination
23z — 29y = 98

29z — 23y = 110

o Watch Video Solution



https://dl.doubtnut.com/l/_2VZGyoUjIBxU
https://dl.doubtnut.com/l/_jLapwQl6EWas
https://dl.doubtnut.com/l/_fGxV1Km2vc3D

29. Solve the following simultaneous linear equations in two
variables by the method of elimination
65z — 33y = 97

33r — 65y =1

o Watch Video Solution

30. Solve the following simultaneous linear equations in two

variables by the method of elimination

14 N 3 _ &
rt+y T—vy
21 1

_ — 9
T+y T —y

o Watch Video Solution

31. Solve the following simultaneous linear equations in two

variables by the method of elimination


https://dl.doubtnut.com/l/_lMQWTlnaYsYh
https://dl.doubtnut.com/l/_RCqOXAEQXifQ
https://dl.doubtnut.com/l/_8xd0cjSfteQy

r+a y+b
a b

ax — by = a® — b?

o Watch Video Solution

32. Solve the following simultaneous linear equations in two
variables by the method of elimination
ar +by =c

a’z + b’y = ¢

o Watch Video Solution

33. Solve the following simultaneous linear equations in two
variables by the method of elimination
ar +by =c

bx +ay=1+c

| nll',L,L\l!,l,, o~ _01_ _a°* ___


https://dl.doubtnut.com/l/_8xd0cjSfteQy
https://dl.doubtnut.com/l/_br09culjYc37
https://dl.doubtnut.com/l/_ikJLJgLHsL5u
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34. Solve the following simultaneous linear equations in two
variables by the method of comparison :
2z + 2y =10

20—3x = — 5

o Watch Video Solution

35. Solve the following simultaneous linear equations in two
variables by the method of comparison :
2(z —y) =3

5 + 8y = 14

o Watch Video Solution



https://dl.doubtnut.com/l/_ikJLJgLHsL5u
https://dl.doubtnut.com/l/_CH4GEf76FZ33
https://dl.doubtnut.com/l/_TdNRS7ceEBmW

36. Solve the following simultaneous linear equations in two
variables by the method of comparison :
3r — 2y =2

Tx + 3y = 43

o Watch Video Solution

37. Solve the following simultaneous linear equations in two
variables by the method of comparison :
z+y=11

1

o Watch Video Solution

38. Solve the following simultaneous linear equations in two

variables by the method of comparison :


https://dl.doubtnut.com/l/_2OoEO1tcY78m
https://dl.doubtnut.com/l/_L2Z6yq7dA8aI
https://dl.doubtnut.com/l/_DXo6UYrWtCBD

x Yy
adRN AR
371
2¢ + 4y =11

o Watch Video Solution

39. Solve the following simultaneous linear equations in two

variables by the method of comparison :

2
r+—=717
(]
6
2c — — =9
Yy

o Watch Video Solution

40. Solve the following simultaneous linear equations in two

variables by the method of comparison :

4 y



https://dl.doubtnut.com/l/_DXo6UYrWtCBD
https://dl.doubtnut.com/l/_jZhq26XtlN6e
https://dl.doubtnut.com/l/_Dz2JOSLf2m3b
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41. Solve the following simultaneous linear equations in two

variables by the method of comparison :

3
20 — — =9
7
3z + — =2
Yy

° Watch Video Solution

42. Solve the following simultaneous linear equations in two

variables by the method of comparison :

o Watch Video Solution



https://dl.doubtnut.com/l/_Dz2JOSLf2m3b
https://dl.doubtnut.com/l/_sBkOhxGUPGx4
https://dl.doubtnut.com/l/_Dm2YwGGP3Fun

43. Solve the following simultaneous linear equations in two

variables by the method of comparison :

r+vy _ 9
Zy -
x_
Y~ 1z #£0,y#0)
Ty

° Watch Video Solution

44. Solve the following simultaneous linear equations in two

variables by the method of comparison :

b
2 _2_
z Yy
a_2+ﬂ:a2+b2
z Yy

o Watch Video Solution

45. Solve the following simultaneous linear equations in two

variables by the method of comparison :


https://dl.doubtnut.com/l/_zdzf1hfngJH1
https://dl.doubtnut.com/l/_6Fj77JDNhjET
https://dl.doubtnut.com/l/_p2sKFWIvsAG9

z_Y
a b

ax + by = a® + b*

o Watch Video Solution

46. Solve the following simultaneous linear equations in two
variables by the method of subsitution :
o + 3y =11

2 — Ty = — 12

o Watch Video Solution

47. Solve the following simultaneous linear equations in two

variables by the method of subsitution :

r+2y+7 2z+y+1l1 z+y—4

5 7 - 2

o Watch Video Solution



https://dl.doubtnut.com/l/_p2sKFWIvsAG9
https://dl.doubtnut.com/l/_QKHos6RAgNnt
https://dl.doubtnut.com/l/_0ZAPaCaQT08y

48. Solve the following simultaneous linear equations in two

variables by the method of subsitution :

5

20 + — = 29
Yy
3

8 — — =1
Yy

o Watch Video Solution

49, Solve the following simultaneous linear equations in two

variables by the method of subsitution :

o Watch Video Solution



https://dl.doubtnut.com/l/_0ZAPaCaQT08y
https://dl.doubtnut.com/l/_ZiGr5cyteCQT
https://dl.doubtnut.com/l/_3HiX5KUF3lLC

50. Solve the following simultaneous linear equations in two

variables by the method of subsitution :

1 1
_|_

S| — o on

z 'y
11
Ty

° Watch Video Solution

51. Solve the following simultaneous linear equations in two

variables by the method of subsitution :

cc—l—y_z
r—y 3
1+1_ 7
z y 10

o Watch Video Solution

52. Solve the following simultaneous linear equations in two

variables by the method of subsitution :


https://dl.doubtnut.com/l/_esdbte39BNHA
https://dl.doubtnut.com/l/_7wkffirhW7xC
https://dl.doubtnut.com/l/_aJJvwysfHfG7

o Watch Video Solution

53. Solve the following simultaneous linear equations in two

variables by the method of subsitution :

rT+y T—Y
3 2
12—z =7

o Watch Video Solution

54. Solve the following simultaneous linear equations in two
variables by the method of subsitution :
23z + 17y = 63

17z + 23y = 57

| nll',L,L\l!,l,, o~ _01_ _a°* ___


https://dl.doubtnut.com/l/_aJJvwysfHfG7
https://dl.doubtnut.com/l/_g6aqedTLnkHZ
https://dl.doubtnut.com/l/_6cNWqe3KNYS8
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55. Solve the following simultaneous linear equations in two

variables by the method of subsitution :

° Watch Video Solution

56. Solve the following simultaneous linear equations in two
variables by the method of subsitution :
r+y=a+b

ax — by = a® — b?

o Watch Video Solution



https://dl.doubtnut.com/l/_6cNWqe3KNYS8
https://dl.doubtnut.com/l/_1AAkNozjkCmL
https://dl.doubtnut.com/l/_JLUSapTTohfY

57. Solve the following simultaneous linear equations in two
variables by the method of subsitution :

_ 2
ar +by =c

a’z + by = &

o Watch Video Solution

58. Solve the following simultaneous linear equations in two
variables by the method of cross-multiplication :
3r +2y—6=0

2r +3y—6=0

o Watch Video Solution

59. Solve the following simultaneous linear equations in two

variables by the method of cross-multiplication :


https://dl.doubtnut.com/l/_4j9BgqFBaPSv
https://dl.doubtnut.com/l/_HcUkSKKVwgF0
https://dl.doubtnut.com/l/_igVQHlMjKVgE

8r + by =11

3z — 4y =10

o Watch Video Solution

60. Solve the following simultaneous linear equations in two
variables by the method of cross-multiplication :
d3r —4y =1

dz = 3y + 6

o Watch Video Solution

61. Solve the following simultaneous linear equations in two

variables by the method of cross-multiplication :

o Watch Video Solution



https://dl.doubtnut.com/l/_igVQHlMjKVgE
https://dl.doubtnut.com/l/_FMSAGyLhHXT8
https://dl.doubtnut.com/l/_hn3wXzKQYnif

62. Solve the following simultaneous linear equations in two
variables by the method of cross-multiplication :
13z — 12y +15=0

8 — Ty =0

o Watch Video Solution

63. Solve the following simultaneous linear equations in two
variables by the method of cross-multiplication :
dr — 3y =9

3r —4y =5

o Watch Video Solution



https://dl.doubtnut.com/l/_hn3wXzKQYnif
https://dl.doubtnut.com/l/_tpORj9Hh0LFu
https://dl.doubtnut.com/l/_vY0n7gFeJyz9

64. Solve the following simultaneous linear equations in two
variables by the method of cross-multiplication :
2v +y =15

2y — 3z = 16

o Watch Video Solution

65. Solve the following simultaneous linear equations in two
variables by the method of cross-multiplication :
T —y=2a

ax + by = a® + b*

o Watch Video Solution

66. Solve the following simultaneous linear equations in two

variables by the method of cross-multiplication :


https://dl.doubtnut.com/l/_ThvwR0GYX8us
https://dl.doubtnut.com/l/_NddbqXlcLFKk
https://dl.doubtnut.com/l/_qqE2JxXWFuJe

Y

b
v
b?

o Watch Video Solution

67. Solve the following simultaneous linear equations in two

variables by the method of cross-multiplication :
a(z +y) + b(z —y) = a® — ab + b

a(z +1y) —blz —y) =a*+ab+ b

o Watch Video Solution

68. If azx+by+c=0 and a’'z +b'y+c =0, then prove

that

T Y 1

be’ —b'c ca’ —c'a ab’ —a’b

o Watch Video Solution



https://dl.doubtnut.com/l/_qqE2JxXWFuJe
https://dl.doubtnut.com/l/_NyhvOBn4cgFQ
https://dl.doubtnut.com/l/_sjEuzD3xjqOD

69. Find the value of y by eliminating x :

r+a  y+2b

= b = a? + b?
2a +b a+b Troey=a

o Watch Video Solution

70.Solve (by any method) :
101z + 99y = 499

99z + 101y = 501

o Watch Video Solution

71. Solve (by any method) :

r+ab y+ab
a - b

az + by = a® + b®

o Watch Video Solution



https://dl.doubtnut.com/l/_Tx4i23B0knf4
https://dl.doubtnut.com/l/_Kay3dW6TQmml
https://dl.doubtnut.com/l/_8pKPhLf9Axi2

72.Solve (by any method) :
b
ax b

2 fby=a+p?
i

o Watch Video Solution

73.Solve (by any method) :

r+a y+2b
2a+b a-+b

be + ay = a® + b°

o Watch Video Solution

74. Solve (by any method) :

a-b  a+b 2(a® + b?)

x Yy (a2_b2)
a+b+ a—2> _ 5
z Yy

.


https://dl.doubtnut.com/l/_y9ptrMXfCKJL
https://dl.doubtnut.com/l/_dHxzujypSXUt
https://dl.doubtnut.com/l/_9o7VNki1tHEc

| ¥ VWatch Video solution

75.Solve (by any method) :
999z + 888y = 1332

888z + 999y = 555

o Watch Video Solution

76. Solve (by any method) :
2
p+2)+——5=2
q— 2

5
6(p+2)—m=1

o Watch Video Solution

77.Solve (by any method) :

(@ —b)z + (a + b)y = a* — 2ab — b?


https://dl.doubtnut.com/l/_9o7VNki1tHEc
https://dl.doubtnut.com/l/_vsf3Q0tvAJOQ
https://dl.doubtnut.com/l/_TDd2iqGivxHG
https://dl.doubtnut.com/l/_eNcxRrYYgq8I

(a+b)(z +y) =a®+ b

o Watch Video Solution

1. Starting at 10a.m., a man walks at the rate of 5km/hr. Starting 2

hours later another man follows him on bicycle at the rate of

7km/hr. Determine when and where they will meet.

o Watch Video Solution

2. Satyababu went to the market taking Rs. 60 in his pocket to buy
some note books (khata) and dot-pens. He found the market
prices of the articles to be such that if he purchased 15 note-

books, then with the rest of the money he could buy 6 dot-pens .


https://dl.doubtnut.com/l/_eNcxRrYYgq8I
https://dl.doubtnut.com/l/_gXB1ajjhHa2l
https://dl.doubtnut.com/l/_NEPvtq8uIsSw

But if he purchased 12 note-books and 7 dot-pens , Rs 1 would be

left for him . What were the market prices of the articles ?

o Watch Video Solution

3. The denominator of a fraction is greater than numerator of it
by 5 and if 3 is added to both the numerator and the

3
denominator the fraction becomes 1 Find the fraction.

o Watch Video Solution

4. The total price of 2 tables and 3 chairs is Rs. 1075. While the
total price of 3 tables and 8 chairs in Rs. 1875. Determine the price

of each table.

° Watch Video Solution



https://dl.doubtnut.com/l/_NEPvtq8uIsSw
https://dl.doubtnut.com/l/_9MBeQNCNqEoz
https://dl.doubtnut.com/l/_OAcT1rdAQDVw
https://dl.doubtnut.com/l/_R4YFLrAXW33P

5. The present age of a father is twice that of his son , 14years
ago, the father was thrice times as old as his son, find their

present ages.

o Watch Video Solution

6. The sum of weight of pradip and Prakash is 80 kg. Half of the

5
weight of pradip is equal to i3 times the weight of Prakash. Find

the individiual weight of Pradip and Prakash.

o Watch Video Solution

7. sum of the ages of a father and his son is 55 years. After 10
years , the father's age will be double of that of his son. What are

their present ages ?

o Watch Video Solution



https://dl.doubtnut.com/l/_R4YFLrAXW33P
https://dl.doubtnut.com/l/_LvxlaIXYA7wp
https://dl.doubtnut.com/l/_HDRuRaCy6gcq

8.The total cost of 3 kg mustered -oil and 2 kg coconut -oil is Rs.
104. While the cost of 5kg mustered -oil and 3kg coconut-oil is Rs.

164 . Find the cost of 1 kg each of both mustered -oil and coconut.

o Watch Video Solution

9. The sum of two digits of a number consisting of two digits is 7 .
If 27 is added to the number, the number of its digits are

interchanged . Find the number.

° Watch Video Solution

10. At present , sum of the ages of a father and his son in 46 years

. When the age of the son will be equal to the present age of his


https://dl.doubtnut.com/l/_HDRuRaCy6gcq
https://dl.doubtnut.com/l/_W3ucGnzcKSFu
https://dl.doubtnut.com/l/_HOlDRL1pbu9d
https://dl.doubtnut.com/l/_zpLjZtL81pbz

father , the total age of them will be 102 years . Determine the

present ages of the father and his son.

o Watch Video Solution

1. If the length of a rectangle is increased by 3 metres and the
breadth is decreased by 3 metres, then the area of the rectangle
is decreased by 18 sq .meters . Again , if its length is increased by
3 metres and the breadth is increased by 3 metres, then area of
the rectangle is increased by 60 sq. metres . Find the length and

breadth of the rectangle.

o Watch Video Solution

12. Sum of the numerator and the denominator of a fraction is 13.
If 4 is added to the numerator and 10 is added to the

1
denominator of the fraction it becomes 3 Find the fraction.


https://dl.doubtnut.com/l/_zpLjZtL81pbz
https://dl.doubtnut.com/l/_zcJ2TiuP1JrC
https://dl.doubtnut.com/l/_SF4ZCcAOKLhj

o Watch Video Solution

13. A man travels a distance in 3 hours with a uniform velocity . If
the distance be 2 km more and his velocity be 2 km less per hour
then he will take time 1 hour more to travel the new distance .

Find the uniform velocity of the man.

o Watch Video Solution

14. If the length of a a rectangular park be increased by 2 metres
and the breadth be deceased by 2 metres , then the area of the
park is decreased by 26 sq . Metres . Again , if the length be
decreased by 1 metre and the breadth be increased by 2 meters,
then the area of the park is increased by 33 sq. metres . Find the

area of the rectangular park.

o Watch Video Solution



https://dl.doubtnut.com/l/_SF4ZCcAOKLhj
https://dl.doubtnut.com/l/_PLAYnZjOLOOZ
https://dl.doubtnut.com/l/_yjgCAfOHLJpO

15. If 2 is subtracted from the numerator and 3 is added to the
1

denominator of a fraction , it becomes 1 But , if 6 is added to

the numerator and the denonimator is multiplied by 3, then the

fraction becomes § . Determine the fraction.

o Watch Video Solution

16. The sum of the present ages of a mother and her daughter is
55 years. After 16 years, the age of the mother will be double the
age of her daughter . What will be the sum of the ages of the

mother and her daughter after 5 years from the present ?

o Watch Video Solution



https://dl.doubtnut.com/l/_yjgCAfOHLJpO
https://dl.doubtnut.com/l/_fPtsu6kasxBz
https://dl.doubtnut.com/l/_RGQ42jdK8rQp

17. A number of two digits is 3 more than 4 times of the sum of its
digits. The number, obtained by reversing the position of the two

digits is 18 more than the initial number. Find the number.

o Watch Video Solution

18. 5 times of the greater one of two numbers is 2 more than 8
times of the smaller one. Again 2 times of the smaller one is 10

more than the greater one. Find the two number.

o Watch Video Solution

19.If 2 is added to both the numerator and the denominator of a
. . 9 N

fraction , it becomes 1 Again, if 1 is subtracted from both the

numerator and denominator of the fraction ,it becomes 1

Determine the fraction .


https://dl.doubtnut.com/l/_hMAySgbBckJZ
https://dl.doubtnut.com/l/_GxfB2S3mhqKF
https://dl.doubtnut.com/l/_UaIjd976IVPX

o Watch Video Solution

20. The total price of 9 horses and 7 cows is Rs. 3000 and at the
same rate, the total price of 6 horses and 13 cows is Rs. 3000.
What will be the total price of 5 horses and 3 cows at the same

rate ?

o Watch Video Solution

21. A person travels by boat 5 kilometres in 1 hour in still water.
The time he requires to travel 40 kilometres against the current is
3 times the time he requires to travel the same distance in favour

of the current . Find the velocity of the current .

o Watch Video Solution



https://dl.doubtnut.com/l/_UaIjd976IVPX
https://dl.doubtnut.com/l/_rpl4jkm9fMym
https://dl.doubtnut.com/l/_oufs81gI1BRq

22. Determine a number of three digits such that if the digits of it
be rerranged in the reversed order, it remains the same and the
sum of its digits is 16 and the difference of its one's and ten's

digits is 2.

o Watch Video Solution

23. A student starting from his house walks at a speed 25
km/hour and reaches his school 6 minutes late. Next day starting
at the same time he increases his speed by 1 km/hour and reaches

6 minutes early . How far is the school from his house ?

o Watch Video Solution

24, Total price of 3 pens and 4 pencils is Rs. 37. Again , total price

of 5 pens and 6 pencils is Rs. 60 . Find the price of each pen and of


https://dl.doubtnut.com/l/_rT9BAmA2vrbb
https://dl.doubtnut.com/l/_Ssij4ZIVCsfa
https://dl.doubtnut.com/l/_WJqTuYeG0df8

each pencil seperately.

o Watch Video Solution

25.2 men and 6 boys together can do a piece of work in 5 days . 8
men and 3 boys together can do the same work in 3 days . In how

many days 1 man and 3 boys together can do the same work ?

o Watch Video Solution

26. A boat travels up stream 30 kilometres and down -stream 44
kilometres in 10 hours . It also travels up-stream 40 kilometres
and down-stream 55 kilometres in 13 hours . Find the velocity of

the stream and of the boat in still water.

° Watch Video Solution



https://dl.doubtnut.com/l/_WJqTuYeG0df8
https://dl.doubtnut.com/l/_yzQ7PZyDRm6K
https://dl.doubtnut.com/l/_CclfVPcDSiRa
https://dl.doubtnut.com/l/_zgHGiG9N8hrk

1
27.Two men SZ kilometres apart, start to walk at the same time .
If they walk in the same direction they meet in 11 hours but if they

approach each other , they meet in 1 hour . Find their velocitites.

o Watch Video Solution

28.1f a man sells 7 horse and buys 9 cows his purchase increases
by Rs. 176, but if he sells 13 cows and buys 9 horse decreases by

Rs. 182 . Find the cost of a cow.

o Watch Video Solution

29. A boy was asked to add 3 to a certain number and to divide
the sum by 2 , but he subtracted 2 from the number and
multiplied it by 3 and got the same result. Find the number and

the result.

[ |


https://dl.doubtnut.com/l/_zgHGiG9N8hrk
https://dl.doubtnut.com/l/_CZdLcPUkMDoW
https://dl.doubtnut.com/l/_lpuvm6ZbE7QG

| &J Watch Video Solution

30. You can spend only Rs. 16 for witnessing football matches .
You can witness 8 matches if you pay taxi fares and entry fees
each time but you can witness 9 matches if you walk on foot once

in every 3 matches . Find the entry fee for a match.

o Watch Video Solution

31. If the angle of elevation of the Sun is 30°, then the length of

the shadow of a vertical pole of length h metre is?

o Watch Video Solution



https://dl.doubtnut.com/l/_lpuvm6ZbE7QG
https://dl.doubtnut.com/l/_qMEdFHzuN5jc
https://dl.doubtnut.com/l/_aN45agX9aK2v

